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BACHELOR OF ARTS EXAMINATION, 2023
(3rd Year, 6th Semester)
PHILOSOPHY

[ David Hume: An Enquiry Concerning Human
Understanding |

Time : Two Hours Full Marks : 30
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Answer either in English or in Bengali.
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. Distinguish, after Hume, between impression and idea. Are

all our ideas derived from impression? Discuss critically.
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“Custom, then, is the great guide of human life.” — Explain
this statement of Hume. 10
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. How does Hume distinguish between propositions

concerning relations of ideas, and propositions concerning

matters of fact? 5
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Explain with example the principles of association of ideas,
following Hume. 5
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. Why does Hume hold that miracle is a violation of the

laws of nature? What is the role of our passion in producing
agreeable feeling towards the possibility of miracle?
Discuss. 3+7

2T (1 S I (SIS oo 267 2o T

FEH ? ST GO TR 2 Ge@Telz T iy

TNTAR CFCE ST T F 2 ST 4| ©+q
Or / 93}

What is meant by “liberty”, when applied to voluntary

actions? Is Hume’s account of liberty compatible with his
claim that all our actions are necessitated? Discuss
critically. 2+8

TR FEHCG O “FITO” 0O F (@RI 2 ST
B G2 ST —AZ QRO A RO T o 4l
T o)l 2 ARG DTG 74 | S+t

What kind of analogical observations led Hume to conclude
that human beings resemble lower animals in case of

reasoning? 5
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“The cause must be proportioned to the effect” — What is
the significance of this statement in the context of design
argument? 5
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